THIOEEFAES LA —Fy FEZA—T U — b
(BB —ERBRE)

MExKE=&Y 1 ThEAREEE)

o—12
[BEEHY—EIFBRE (BRE5HE) |
(9 —1HhE6M9—11ETOKESBEICHT IEMARICOVTHREMICEFML TS ZELY, )

HE
2L THLLLVK] IZ2DULT

N=529
AL EEEE EEEES EEEE EEEES
1. e 236]  44.6% .
3. OO Tm 21 4 0% :
/ - A: > - - A:
AR OOFRINDEEN94. 5%EEHD. [POFRFL [REIDEETES. 5% TL =,
QEILL LD AMIGIERIEDERIZEZ N -TEFELT-,
.
EEEEEES
4 51| B ZE EXES
267 262 529
1. BT T17] 43.8%] 119] 45. 4% 236] 44.6%
2. POEE 137 51.3%| 127 48.5%| 264 49. 9%
3. VOTHE 0] 3. 7% 11| 4. 2% 27 4.0%
4. o 3 1.1% 51 1.9% 8l 1.5%
B ki m2k
1. R
2. OO E
3. PO
4. i
0.6% 10.0% 20.0% 30.0% 40.0% 50.0% 60.0% 70.0% 80.0% 90.0% 100.0%
EEH

4-46




&% - LXK
F/ 20mRim| 20X | 30kt | 404K | 50%1E | 601K | /0Ll L
2 12 66 94 18 16 21
1. BT 0]0.0% 4133.3%]  29]43.9% 92]47.4%] o3|44.9%| 45]38.8% T13]61.9%
2. POER 2|100.05]  7]58.3% 32]|48.5% 88]45.4% 62]52.5% 66]56.9%]  7[33.3%
3. PPORE 010.0%] 118.3% 3]4.5% 10]5.2%] 2]1.7%] 5[4.3% 0[0.0%
4. F; 0]0.0% 0]0.0%| 2[3.0% 4]2.1%] 1]0.8% 0[0.0%] 1[4.8%
20K m20mk X 130X Aot msot meoEft m70mLLE
1.2
2. POHE
3. POFRH
4. T
1
0.0% 10.0% 20.0% 30.0% 40.0% 50.0% 60.0% 70.0% 80.0% 90.0% 100.0%
EZEH

4-47



